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LPG = A(GDP, RPLPG, LPG, _,, CAR)
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InNGV = b, + b InGDP + b, InRPNGV + b, InNGV,_, + b, InCAR




38

Taotvuald
LPG = USuamsus Inamat Ins@eumad @ wunlansy)
a Aa (44 a 9 a [
NGV = U51amsus Inamasssuaa (@1un lansy)
a o s o
GDP = wasduswiasumeludseme s siedseditl @mum)
RPLPG = simad Iasi@eurainuiase (U : ans)
RPNGV = $10M9535UIANUND5Q (U : 8as)
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(@1unlansy)
a o ] 'L Y =
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(¢-statistic) (-1.1959) (9.6267)** (-0.4602) (5.0057)**
+0.8006 InCAR
(1.9880)*
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R-squared = 0.9311
Adjusted R-squared = 0.9185
Durbin-Watson stat = 2.1966
F-statistic = 74.3306
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WasuasliZosas 1 wdawalilSinamsus Inafad Tns@oumad whsuuas
Tifeuaz 0.6326 lunemadsniu nande M1uSuamsys Inamadl las@ourar
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2. HaMsANYIRUAIAMYTITNTIA (NGV) Y ¥haad
InNGV = -7.3990 + 13.1023 InGDP — 4.3602 InRPNGV + 0.8778 InNGV,_,
(z-statistic) (-0.5080) (10.9023)** (-0.7443) (11.8862)**
+1.4116 InCAR
(1.0076)
R-squared = 0.9921
Adjusted R-squared

0.9907

Durbin-Watson stat 1.9050

F-statistic = 693.8097
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